TaHreHC CyMMbI U Pa3HOCTH
aprymMeHToOB



YnpaxXHeHune:

YNnpocTuTe BbiparKkeHUs:

cosa-cos3a—Sina-sin3a = cos 4a

sin 37° - cos 8° A

- cos 37° - sin 8°

sin 30° - cos 15° A

- sin15°- cos 30° 1



sinx -cosy+cosx-siny
sin(x+y) sinx-cosy+cosx-siny COS X - COS Y

cos(x+y) cosx-cosy—sinx-siny COSX:COSy —sSinx-siny
COS X - COS'Y

tg(x+y)=

tg tg )
sinx-cosy . cosx-siny
_cosx-cosy cosx-cosy ltgx+tgy
S CosXx-cosy sinx-siny  1—tgx-tgy
COSX-COSY COSX:COSY

tg x tg)

tgx+tgy
1—tgx-tgy

tg(x+y) =

T T T
x¢§+nk,kEZ,y¢§+7rk,kEZ,x+y¢§+nk,kEZ



SInNX -coSy —Ccosx-siny
sin(x—y) sinx-cosy—cosSx-siny COS X - COS 'y

cos(x —y) cosx-cosy+sinx-siny COSX:cosy+sinx-siny
COS X - COS'Y

tg (x—y) =

tg tg )
sinx-cosy cosx-siny
_cosx-cosy cosx-cosy tgx—tgy
S CosX-cosy  Sinx-siny  1+tgx-tgy
COSX:-COSY COSX:COSY

tg x tg)

tgx—1gy
1+tgx-tgy

tg(x —y) =

T T T
x¢§+nk,kEZ,y¢§+7rk,kEZ,x—y¢§+nk,kEZ



[Tpumep:

Relumcantb tg 15°. tgx—tgy
PeleHue: =) = T X
; gx-tgy
15° = 45° — 30
V3 3—-+3 2
oo 1z _ 1945°—tg30° _ 1—7 3 (3-V3) B
I L+tg45°t930° V3 3+v3 (3+V3)(3-V3)
3 3
_12-6V3_6(2—-v3) _ 5
-~ 9-3 6

OtgeT: tg 15° =2 — /3



[TIpnmep:

o tgx+tgy
Relumcantb tg 75°. tg(x+vy) = T tax.
gx-tgy

PeweHue:
75° = 45° + 30°

Y

3 3
(o yso _ L9 45°+1g30° 1+\/T— _ +3 - (3+3) =
P T 1-tg 45 tg30° VB 3-V3 (3-V3)(3+3) |
3 3
12+ 6v3 _ 6(2++3)
- =243

OtseT: tg 75° = 2 + /3



[Tpumenp:

tgx+tgy
¥NpPOCTUTL Bblpa*keHue: ) =T T x tgy
tg 2,22 +tg 0,91
1—1tg222-tg 0,91
PeweHune:

tg 0,22 + tg 0,91
1—tg 0,22 -tg 0,91

=tg (0,22 + 0,91) = tg 3,13

OtserT: tg 3,13.



[Tpumenp:

¥NpPOCTUTbL BblpaXKeHune gt —y) = tgx —tgy
tg (45°+a) —tg a 1+tgx-tgy

1+tg(45°+a) tga

PeweHwne:

tg (45°+ a) —tg a
1+tg(45°+a)-tga

=tg (45°+a—a)=tg45° =1



[Tpumep:

_ tgx—tgy
JOoKa3aTb TOXKAECTBO TN = T gty
1—-tg 2a
= tg (45° — 2«
1+tg 2a 9( )
Jl10Ka3aTenbCTBO:

tg45° —tg2a 1-tgla

45° — 2a) = =
tg (45 “) 1+tg45°-tg2a 1+ tg2a




[Tpumep:

PelwnTb ypaBHEHME tgx —tgy
*tg 5x — tg 3x tg(x —y) =

tg ox —tg _ 3 1+tgx-tgy
1+tg3x-tg5x '
PeweHue:

tg 5x — tg 3x

=tg(5bx—3x)=tg?2
1+tg3x-tg5x g (5x = 3x) = tg 2x

[

tg2x=\/§=>2x=§+nk,kEZ
I ez

*Te T2

k
OTBeT: X =%+%,k € Z.



[Tpumep:

4
Bbiuncnntb tg (% + a) ,ecnn ctg a = 3

PeweHue:
tg %+ tg a

"9 (g+a) 1—tg%-tga

tg (g+a) —ctg a = —g

OTBeT: tg (g + a) = —%.

o (

=+
—Ta
2

) =—ctga



[Tpumep:

Boiumcnntb tg (a + B), ecnntg a = %, tg B = -

PeweHwne:

1 1
tga+tgp 5 T3
tg(a +B) = e 3

OteeT: 1.



[Ipumep:

Rolumcnuntb ctg a, ecnn tg (a — %) = 0,2.
PeweHwne:
s
my tga—-tgzg tga-1
tg (“‘Z)‘Ht ta T 1+tga
ga-tg 7
tga—1 1 Stga—-5—-(1+tga)

===
1+tga 5 5+ 5tg a
4dtga—6=0 B _3_ )
{tga:t—l S4tga=6=tga=-=15=>ctga=

2
OTBeT: ctg o = >

tgx—tgy
1+tgx-tgy

tga-ctga =1

4tg a — 6

= =0
5(1+tg a)

Wl N



